N  FH20EE
EEH BRI

U ACCE: )

=y Sk £ R | & 4 (=]
mol B S =
| T | #® DD
BHRIES E|F|F| B _
BIM B B s
R (FRELERERD 35 | 28 | 32 33 128
. . BAREZER T 2 k| 1 1 2
S REBS 3 | 30 30
TEE®BTE BALTEGRS 3 Rl 6 6
BIRYDEINE EmamHatyy— | 2fE4%E | 3 3
B 28 T BrxasdE e B tw 6 6
U —RIFEERRTE  |errvmeEraeys- |4 G 24 24
2 T A LB R RSN 3R 16 16
NEETTES R E R XN E 25 25
m 8| & N 4 S5 = O B kK B| 7 7
NIz ] coiaeilbas |2 iR 5 5
2 R 29 29
HARBUE R 3 R 32 32
TERIE % 2 2
= £ N A [=—1 D
B FREBIRE - 3 32 32
4 R 32 32
=) OARS T2
Q_lj—j—_,r \JD =] EuﬁPﬁEE1E 3 ff‘\& 3 3
570 —5EhHLEE E4EHEE 3 N 6 6
WEBIRTE EHRERTRE o 2 3
= 3 R 26 | 28 54
1 R 3 1 4
NETH A VIEE 2 i 16 18 34
3 N 2 2
'I‘%ﬁ&‘&&ﬂi}ig’gﬂﬁﬁ ISR 2 R 29 29
(FRETE) AR IR 3 Rl 29 | 27 | 30 30 116
JLEYF—v3aYv 1 N 8 8
_1'5&7@@ 2 | 28 13 41
BAZED—TJORRE 1 R 2 2
I\ DY 2E— RADRE 5 4B 1 1
1 R 2 8 10
ey iéig > wml 1] 3|19 30 [ 53
(2551 3 &1 21 | 20 | 30 31 102
_ 4 % 19 19
FEFXSSTFN 2 iﬁ ] 2 | 2 5
HEERRTE BRERE 3 @l 8 | 8 | 17| 19 | 52
4 ;2 2
2 i 2 iR 7 7
_BERE 3 3 27 | o7
_%gégg ngé%égg 3 5|15 22 18] 70
2 ;o1 1 2
E 3 (=P [==] g NI gﬁr‘ﬁ ﬁ 2 ﬁ}& l 9 7 17
KEFENETE WERIFERE = w20 T 17 55 =
4 R 1 1
ERBEERERE | BABFEERS |3 Rl 9 10 | 11 12 42
_ I J—)UR[ 18 10 32 29 89
&5#5{17\ ;_‘7 BHEHEESES |VJ)L/N—] 16 [ 18] © 4 38
JovXZ| 1 0 0 0 1
= z 218 [ 195 [ 448 | 359 | 1220




